Have you ever seen this point addressed in any text?
               We know   √(4×9) = √(4)  × √(9) is valid
       because left hand side: √(4 × 9) =√(36) = +6

    and right hand side: √(4) × √(9)  = 2 × 3 = +6
           But this √(–4 × –9) = √(–4) × √(–9) is not valid because
             left hand side: √(–4 × –9) =√(+36) = +6
 BUT right hand side: √(–4) × √(–9) = 2i×3i = –6
Consider the following fallacious “proof” that 1 = –1:
        1  = √1  =  √(-1 × -1)  =  √-1  ×  √-1  =  i × i  = -1

The problem is the part I have written above in RED.

This is just an application of Order Of Operations, where it does work and where does not work. 
Basically we have to realise that √(a × b) means “do the brackets first” then find the “square root” whereas,   √a  × √b  means “find the square root of “a” then find the square root of “b” and then multiply them. 
We need to test if these are equal by working each one out separately:

(a)  Consider    √(9 × 9)  =    √81   = 9
               and    √9 × √9  =   3 × 3  = 9
       Since things like this are equal, we can say √9 × √9   = √(9 × 9)  
(b)  Consider   √(9 × -9)  =    √( -81)   =  9i
               and   √9 × √-9   =    3 × 3i     = 9i

       Since things like this are equal, we can say √9 × √-9   = √(9 × -9)  
(c) But consider  √(-9 × -9)  =    √( +81)   =  9
                   and   √-9 × √-9   =    3i × 3i     = -9
Since things like this are NOT equal, we can say √-9 × √-9   ≠ √(-9 × -9)  
In conclusion √(a × b) = √a × √b if both “a” and “b” are positive OR just one of them is positive.

It is NOT true if both “a” and “b” are negative. 

NB This idea is similar in some respects to the following:
A. To test whether or not:   (8 + 3) + 2 = 8 + (3 + 2)

Firstly consider the left hand side:  (8 + 3) + 2 = 11    + 2 = 13    

Secondly consider the right hand side:   8 + (3 + 2) = 8 + 5 = 13

These are equal so (8 + 3) + 2 does equal 8 + (3 + 2)

B. To test whether or not:   (8 – 3) – 2 = 8 – (3 – 2)         

Firstly consider the left hand side:  (8 – 3) – 2 = 5 – 2 = 3

Secondly consider the right hand side:   8 – (3 – 2) = 8 – 1 = 7

These are NOT equal so (8 – 3) – 2 does equal 8 – (3 – 2)

